CHEMISTRY

BOOKS - RESONANCE HINDI

PHYSICAL CHEMISTRY DPP NO.15

1. COy & 10 Hic1 3&d 2l

A.C & 120g &I



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_KWE7SIqNBJql

B. O & 20 JTH -GRHATUL3 Bl
C. 30N, TRHTUL3T b

D. O & 160g &l

Answer: D

O dfd &

2. 799 g0 & IR B H (1 9 IV Bl) IIRAd
Hifare:
(I) O3 & 0.5 Al

(I1) 3TRAIST & 0.5 JTH GRAT]


https://dl.doubtnut.com/l/_KWE7SIqNBJql
https://dl.doubtnut.com/l/_KwlP9w3tpjMB

(1) Oy &1 3.011 x 10*° 3]
(IV) STP R CO5 & 5.6 cile?
ATl <IV <IIT <1
B.II < I <1V < III
CIV <II<III<I

D.I < II <III <1V

Answer: A

O S &



https://dl.doubtnut.com/l/_KwlP9w3tpjMB

3. If¢ BRP Aehe Fey(S0,), BT Tb Hreel 7.2
el O-ORHTY] 3T &, dl & 53 wreel # -3
A 1.8N4
B.0.9N,

C.3.6N4

D.3.1N,

Answer: A

O it s



https://dl.doubtnut.com/l/_0o58kkn8LF7z

4. X H, N9 &l HieR G| 34 g/mol 81 XO4 &I
HIeR G fBdAT 8P (ePTT)?

A. 64 g/mol

B. 82 g/mol

C. 80 g/mol

D. STTd 21 a1 311 TabT &

Answer: C

O dfa &



https://dl.doubtnut.com/l/_4WuGjr42v0vb
https://dl.doubtnut.com/l/_xyEzBxuTtTiJ

5. Jfe 991 a7 fRAfG 7 31fAfYadar 9= &, i oo &
AfAfadar grhi

PN il
"\ A4n

h

4r

c [P
“\ 4mm

1 h

m \ 4w

B.m

Answer: A

O dfd &



https://dl.doubtnut.com/l/_xyEzBxuTtTiJ

6. S; , DI YT Bl ded<rahiy fafeull &l
A9 Yahfd & TR IR JHSTIT 37T HbdT &
Sy :n=2,1=1gRI AR H&Pb bl HTHd SHcl

(dumb-bell) Bt &1

Sz : X-3181 YT Y-31&81 W d,, P&PH H SeidgHi &
U ST & AT 9T et &

A. FTF

B.FTT

C.TFT

D. TFF


https://dl.doubtnut.com/l/_tZadHALaiDLy

Answer: B

O dd &

7. Fafaf@a warel # 3 foy ®ad & v X-318
dYT Y- QAT & 3 Sl P U S Bl
TfAhdT 31T il &

A d

Y

B. dm2 — 2

D.d,,


https://dl.doubtnut.com/l/_tZadHALaiDLy
https://dl.doubtnut.com/l/_lfLLbvMrpxBF

Answer: B

O da &

8. 4fheb & Uh ScideH & folU IRI IdicH

ST BT DI TG el & Ahdl & :
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https://dl.doubtnut.com/l/_lfLLbvMrpxBF
https://dl.doubtnut.com/l/_fxhfezhUNYdn

Answer: C

O da &

9. If¢ B &1 Scide e A= 153252 forar s

9 & @ B g~ o1 Jeeiod g3 & ?

A. 3TReT3 RIgr
B. gUS ! 31fAbdH Sgahdl ol fAaH

C. 93¢t &l 3M9ad- a9


https://dl.doubtnut.com/l/_fxhfezhUNYdn
https://dl.doubtnut.com/l/_rAkICh9p9ad0

D. §US I HfAeaH dgebdl 1 T8 3R Irdhedl

PI 39gd- IH

Answer: C

O A E

10. 5 CuO T CuyO & Uiael # HiRilsH & YR
1 AT &1 &P, Afe QT wreel, SR & A

AT b Bi:

Al:2


https://dl.doubtnut.com/l/_rAkICh9p9ad0
https://dl.doubtnut.com/l/_HK14GeAlMyjL

B.1:1

C.2:1

D. 298 I PIS Tl

Answer: C

O dfa &

1. 99 & AMd, SO; &1 UG g9 S
$HIfav

A.8


https://dl.doubtnut.com/l/_HK14GeAlMyjL
https://dl.doubtnut.com/l/_d48g3pKXX44Z

B.3.5

C.25

D.5

Answer: D

O dfa &

12. §a1 &I °4cd 0.00130 g/mL & d &aT &1 a9

Tcd 811 :

A. 0.01456


https://dl.doubtnut.com/l/_d48g3pKXX44Z
https://dl.doubtnut.com/l/_gvstbthp7h4T

B. 14.56

C. 1456

D. 37937 37The

Answer: B

O dfa &

13. U &Tq I WHIU[ UR 27 u & AYT FATsThdT 3 ¢l

&9 &Tq & areiie] FIRT1SS BT a1 g-icd (Y &P

A. 66.75


https://dl.doubtnut.com/l/_gvstbthp7h4T
https://dl.doubtnut.com/l/_c5Yy1P6DpbhB

B. 321

C. 267

D. 80.25

Answer: A

O dfa &

14. TRIhe BT fAAATUT A c2lfdT & b s9H 2.64
ygfcrerd MfIRM g1 &1 FERIfhd & 1.00 W H
HfifRm & o RHTO] EP1?


https://dl.doubtnut.com/l/_c5Yy1P6DpbhB
https://dl.doubtnut.com/l/_KABJCOfQJy8Z

A. 6.62 x 10%°

B. 6.62 x 10

C.6.62 x 10*

D.6.62 x 10*

Answer: D

O S &

15. AifTd CaCO3.3Caz(PO,), H 3iils &

S Ufaerd o 22


https://dl.doubtnut.com/l/_KABJCOfQJy8Z
https://dl.doubtnut.com/l/_TccVcnPvBVeG

A.23.3 %

B. 45.36 %

C.41.94 %

D.17.08 %

Answer: C

O S &

16. TTE T 115% TNSTH 3G &1 A1 BT A
HIeR 9R (g/mol) 91 gP1 ?


https://dl.doubtnut.com/l/_TccVcnPvBVeG
https://dl.doubtnut.com/l/_DcAVHtSgu0j1

A. 4200

B.3750

C. 2000

D. 3000

Answer: C

O S w &

17. FAMTe! g CH,O b 0.1 Hicl Sleiglgse #
1g BT2IsI 3URAd ¢, dl Plaialsge Pl 3N0ad I
1 gPT


https://dl.doubtnut.com/l/_DcAVHtSgu0j1
https://dl.doubtnut.com/l/_1y2PQblkFSoc

A. C5H10 05

B. O6H1206

D. C4H10 04

Answer: A

O S &

18. Ueh Ui, dcd X, Y d Z &bl SRTER GIHTA Il
g1 If& X, Y 9 Z &1 WA YR HHLE 10,20 d 30 &

A AMf1es T YA IR T 1T 2


https://dl.doubtnut.com/l/_1y2PQblkFSoc
https://dl.doubtnut.com/l/_YQRyrioRBMYo

A. 80

B. 360

C. 200

D. 180

Answer: D

O S &

19. FR, 37 G];,?IE % 3?2'\’3[ (Bullet proof vests)

M § gt a1 STar €, o Jelrurdt g3 sird



https://dl.doubtnut.com/l/_YQRyrioRBMYo
https://dl.doubtnut.com/l/_wjeQud0oeJ9m

HIfSTT dT 75 70.6% C, 4.2% H, 11.8%N T 13.4%
O (GTH Hfaerd) &

A.C,H;NO,

B.C, H;N,O

C.C;HyNO

D. C;H;NO

Answer: D

O S &



https://dl.doubtnut.com/l/_wjeQud0oeJ9m

20. U Hlef-b JifIs &I 1 Hicd, 311 C, H 92T O

3@ &, 7of $9 A 61 W STP W 1344 L CO, @

108 g H,O 3d1fed &vdl el dd Praidb A Bl
3URYE A & AT 8 :

A. CyHyOq

B. CsH{50¢

C. CsHyO

D. Cngz 02

Answer: B



https://dl.doubtnut.com/l/_AojvTD7GjRK2

e D HE= R [ECA SRR\



https://dl.doubtnut.com/l/_AojvTD7GjRK2

